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21 Fourier 0O OO
RN

0000LO00000 f(x)0

f(x) = f—=e?mix/L (2.1Q.1)
M= 2 "
0000000 f,0000.00,0000 -5<x<toooooooo.
f(x) =sin 2% gin X (21Q.2)
L L

f(x) =1— %x (2.1Q.3)
1 (X <%

f(x) = (K <3) (2.1Q.4)
0 otherwise
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goooog.
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gbooooogn

mx” (t) + muwdx(t) = mag(t) (2.2Q.1)
000 xt)O0,FPouriere 0000 0000.000,g0) 000 TOODOO,0000
(~3,310

-1 (-5 <t<0)
t)= . 2.2Q.2

o {+1 (0<t< ) (2202
23 U0OO0OOOOO
0o

gooooooo

mx’ (t) + myX(t) + madx(t) = macoswt (2.3Q.1)
0000,0 x(t) o

X(t) = _z an\/%oexp(inmt) (2.3Q.2)
godoooooooooooao.

24 Fourier OO0 DOOODOO
0o
0000 uOt)=ulL,t)=00000000000

02 02

Sa ) =V (x1) (24Q.1)
oooo.0oot=00,

u(x,0) = asin ? (2.4Q.2)

0 AL

au(x, 0) = bsmT (2.4Q.3)

000000.0000000uxt)0Do00ooooooog.
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1. 000000000 uxt) =32 ,a,(t)sh™ 0000000000, ag(t)
oooo.

2.00,uxt)0000,ux000000000,a,(t)00000.

2.5 Fourier O [
RN

O0000 Pourier 00O O0OO.000,a4>0000.

f=d x20 (25Q.1)
o otherwise, T
1-x (X <),
f(x) = 2.5Q.2
) {0 otherwise, (25Q2)
f(x) =g~ (2.5Q.3)
Hint. Gauss O O
/ " dxe ™ = /a (250.4)

oo
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